Please answer questions and show your work.

[image: image1.png]SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Provide an appropriate response.
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Rewrite the objective function into a maximization function.
14) Minimize w =2y] +y) +3y3 14)
subject to: 3y1 +2yp +y3 264
y2+y3=z11
2y1+ y2223
y120y220,y320
A) Maximize xp -x3 =11 B) Maximize z =2x] + X2 +3x3 - X4
C) Maximize z = -2x] -Xx <23 D) Maximize z = -2x] - X2 - 3x3

Each day Larry needs at least 10 units of vitamin A, 12 units of vitamin B, and 20 units of vitamin C. Pill 1 contains
4units of A and 3 of B. Pill 22 contains 1unit of A, 2 of B, and 4 of C. Pill #3 contains 10 units of A, 1 of B, and 5 of
C
15) Pill #1 costs 6 cents, pill 2 costs 9 cents, and pill #3 costs 1 cent. How many of eachpill must ~ 15)
Larry take to minimize his cost?

A)P1=2,P)=0,P3=6 B)P1=1,P)=0,P3=9
QP=3P)=0P3=4 D)P;=0,Py=0,P3=12
Solve the system of equations by using the inverse of the coefficient matrix.
x-2y+3z = 4
16) y-zsw= 4 16)

x4 2y -2z + 4w =-10
%y -3z ~w= 7
A)(-1,0,1,-3) B)(-2,-1,2,-2) Q) (0,-2,0,-1) D)(-1,-1,1,-2)




